Wimbledon **Answers**

1.	Where is Wimbledon held?
	London Edinburgh
	Dublin
	Cardiff
2.	It has been held there since what year?
	1788
	1877
	1878
	1888
3.	Tick three.
	The other three Grand Slam tournaments take place in:
	Africa
	✓ Australia
	France
	✓ America
4.	What is special about 'Middle Sunday'? Usually, there is no play on the 'Middle Sunday', however bad weather has sometimes meant that matches are played on this day.
5.	Which court has a roof?
	Court No.1
	Court No.18
	Court No.13
	✓ Centre Court

6.	The courts are covered in:				
	Clay				
	Tarmac				
	✓ Grass				
	Sand				
7.	Link up the beginning of each sentence with the end of each sentence:				
	The gentlemen's singles champion receives	2003.			
	The women's singles champion wins a	a silver gilt cup.			
	Roger Federer won in	2013.			
	Sir Andy Murray first won in	sterling silver salver.			
8.	Players' clothes must be or at least almost all _	white			

Check the change the shopkeeper has given you. Is it the correct amount, or have they made a mistake?

You buy	You pay	Your change	Correct or incorrect?	Correct change required
£7.50			x	£2 and 20p
£8.99	O Decree		*	£1 and 1p
£9.62			~	38p
£6.79	10 Sections		x	£3 and 21p
£9.85			~	15р

Money Problems

- How much would it cost to buy a second-hand copy of The Force Sleeps?
 £2.00
- What would the total cost of buying Mindcraft and The Force Sleeps second hand?
 Second hand 2 games = ½ the price.

£4.00 + £5.00 = £9.00
$$\frac{1}{4}$$
 of £9.00 = £2.25

- 3. How much would it be to buy new versions of both Cool Duty and Toastbusters? £4.48 + £5.84 = £10.32
- 4. How much would you pay to buy second-hand copies of Wall of Spies and FOFA 16?

$$\frac{1}{4}$$
 of £1.80 = 45p $\frac{1}{4}$ of £3.96 = 99p Total: £1.44

5. What would the cost be for a new copy of Toastbusters and second-hand copies of Toastbusters and The Force Sleeps?

6. How much would it cost to buy all of the games brand new?

Speech punctuation

- Turn these conversations into direct speech sentences.
 - a) "Aisha, I need your help." "I'm on my way, Leon."
 - b) "My favourite ice cream flavour is strawberry." "My favourite is chocolate."





Class: Add the correct punctuation to these sentences. ■ "Can I go next?" asked Klara. 2 "I missed that ball again," complained Sten. 3 "Rounders is my favourite game!" exclaimed Stig. Manu shouted, "Pass me the bat!" **5** "We've lost again,"moaned Emma. Meg called to Chip, "It's time to go home." **7** "I'm always missing the ball," complained Rosa. 8 "Run, Chip, run!" called Meg. ¶'m too tired to play anymore,"stated Stig Tick the correctly punctuated sentence. **①** "I really like the new kit," said Sten. I really like the "new kit," said Sten. I really like the new kit, "said Sten."

MASTERS CHALLENGE 2 x 2 = 4	24 ÷ 6= 4	10 x 9 = 90
8 x 7 =56	44 ÷ 4 = 11	8 x 12 =96
3 x 3 = 9	3 x 4 = 12	8 x 8 = 64
5 x 4 = 20	4 x 4 = 16	54 ÷ 9 = 6
1 x 1 = 1	5 x 3 = 15	40 ÷ 8 = 5
48 ÷ 6 =8	3 x 8 = 24	6 x 3 = 18
28 ÷ 4 =7	60 ÷ 12 =5	6 x 12 =72
3 x 6 = 18	36 ÷ 3 = 12	3 x 6 = 18
4 x 7 = 28	4 x 11 =44	4 x 12 =48
4 x 5 = 20	3 x 5 = 15	9 x 5 = 45
9 x 7 =63	9 x 11 =99	9 x 12 =108
42 ÷ 7 =6	4 x 8 = 32	8 x 9 = 72
45 ÷ 5 =9	12 x 11 = 132	12 x 12 =144
5 x 6 = 30	9÷1=9	10 ÷ 5 = 2
3 x 7 = 21	10 x 3 = 30	6 x 6 = 36
2 x 9 =18	9 x 9 = 81	90 ÷ 10 = 9
36 ÷ 9 = 4	8 x 3 = 24	10 x 10 = 100
121 ÷ 11 = 11	72 ÷ 9 = 8	10 x 3 = 30
1 x 7 = 7	66 ÷ 6 = 11	48 ÷ 4 = 12
8 x 4 = 32	1 x 10 =10	54 ÷ 6 = 9
99 ÷ 9= 11	6 x 5 = 30	108 ÷ 9 = 12
5 x 7 = 35	5 x 11 =55	5 x 12 = 60
9 x 2 = 18	2 x 8 = 16	8 x 10 = 80
7 x 7 =49	7 x 11 = 77	7 x 12 =84
11 x 7 =77	11 x 11 = 121	11 x 12 = 132
6 x 10 = 60	63 ÷ 7 = 9	3 x 9 = 27
3 x 7 = 21	3 x 11 = 33	3 x 12 = 36
8 x 5 = 40	4 x 10 = 40	18 ÷ 2 = 9
2 x 11 = 22	6 x 9 = 54	10 x 10 = 100
8 x 7 = 56	60 ÷ 5 = 12	12 ÷ 1 = 12
4 x 7 = 28	84 ÷ 7 = 12	9 x 7 = 63

88 ÷ 8=11	10 x 11 = 110	72 ÷ 6 = 12
10 x 7 = 70	10 x 11 = 110	10 x 12 = 120
3 x 12 = 36	120 ÷ 12 = 10	36 ÷ 3 = 12

Master Master Challenge

	1	1	
72 ÷ 8 = 9	6 ÷ 1 = 6	56 ÷ 7 = 8	18 ÷ 2 = 9
64 ÷ 8 = 8	$18 \div 3 = 6$	24 ÷ 3 = 8	40 ÷ 8 = 5
28 ÷ 7 = 44	30 ÷ 6 = 5	8 ÷ 8 = 1	56 ÷ 7 = 8
$9 \div 9 = 1$	32 ÷ 8 = 4	12 ÷ 4 = 3	24 ÷ 6 = 4
54 ÷ 9 = 6	$12 \div 4 = 3$	$35 \div 7 = 5$	12 ÷ 2 = 6
40 ÷ 8 = 5	18 ÷ 6 = 3	$15 \div 3 = 3$	9 ÷ 1 = 9
$1 \div 1 = 1$	16 ÷ 8 = 2	56 ÷ 8 = 7	$35 \div 7 = 5$
$63 \div 9 = 7$	2 ÷ 2 = 1	$36 \div 4 = 9$	42 ÷ 6 = 7
$27 \div 9 = 3$	$36 \div 4 = 9$	9 ÷ 1 =9	$15 \div 5 = 3$
16 ÷ 2 = 8	54 ÷ 6 = 9	12 ÷ 6 = 2	6 ÷ 1 = 6
$7 \div 1 = 7$	72 ÷ 9 =8	$36 \div 9 = 4$	9 ÷ 9 = 1
$12 \div 3 = 4$	14 ÷ 2 = 7	$30 \div 5 = 6$	24 ÷ 6 = 4
27 ÷ 3 = 9	24 ÷ 4 = 6	$6 \div 1 = 6$	$45 \div 5 = 9$
10 ÷ 2 = 5	30 ÷ 6 = 5	48 ÷ 6 = 8	8 ÷ 4 = 2
16 ÷ 4 = 4	$45 \div 9 = 9$	2 ÷ 2 = 1	$7 \div 1 = 7$
$3 \div 3 = 1$	16 ÷ 4 = 4	21 ÷ 7 = 3	9 ÷ 9 = 1
18 ÷ 3 = 6	$21 \div 7 = 3$	$9 \div 3 = 3$	$30 \div 5 = 6$
40 ÷ 5 = 8	81 ÷ 9 = 9	30 ÷ 6 = 5	32 ÷ 4 = 8
32 ÷ 4 = 8	16 ÷ 2 = 8	14 ÷ 2 = 7	12 ÷ 3 = 4
24 ÷ 4 = 6	$35 \div 5 = 7$	56 ÷ 8 = 7	63 ÷ 9 = 7
45 ÷ 5 = 9	49 ÷ 7 = 7	36 ÷ 4 =9	24 ÷ 8 = 3
40 ÷ 5 = 8	54 ÷ 9 = 6	18 ÷ 9 = 2	$25 \div 5 = 5$
20 ÷ 4 = 5	15 ÷ 3 = 5	20 ÷ 5 = 4	32 ÷ 4 = 8
48 ÷ 6 = 8	20 ÷ 5 = 4	24 ÷ 8 = 3	$36 \div 9 = 4$
54 ÷ 6 = 9	28 ÷ 7 = 4	24 ÷ 4 = 6	48 ÷ 8 = 6